Warm Up 2/26/19
1. A sequence is as follows: i 4
TR A=7E d=4

A. Write the rule for the sequence

Onz= d(n=-1)+a
B. Findal?—ae an — ’—,‘(ﬂ-—} ""]Z

q(I)-1=28 —=4dn-4-12

H)1o= 8 (2N=dn-T6\
28*‘3

Z2.5olve: 9m-3(m+ 6)= 2(m+ 1)
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Notes/Examples

Lms Algebraically, how do we know if two lines are parallel?
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owdowe know if s are perpendicular?

ooy are.
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Some examples: *

1)%&-% 2) 2&-—21:. 3)-%&-%— 4)1&-| 5)0& ¢
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Determine if segments 4B and CD are parallel, perpendicular, or neither:

1. AB formed by (-2, 3) and (2, 6)
CD formed by (-1, 0) and (3, 3)

-2 __ 3
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2. AB formed by (0, 2) and (5, 4)
CD formed by (1, 8) and (3, 3)

AP 4-'2'.:——
5-0 5

3. AB formed by (-1, 8) and (2, 6)
CD formed by (-1, 2) and (3, 3)
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4. 4B formed by (2, 3) and (-1, 4)
CD formed by (-5, 3) and (-4, 6)
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5. @ formed by (0, -2) and (0, 7) 6. E formed by (-4, 7) and (-2, 6)
CD formed by (3, -5) and (6, -5) CD formed by (2, -2) and (-8, 3)

7. AB formed by (3, 1) and (3, 4) 8. AB formed by (-3, 8) and (3, 2)
CD formed by (-4, 1) and (-4, 5) CD formed by (7, 1) and (5, -1)
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13.5¢-y=4and y=-2x+7 14. 3x—y=2and 12x -4y = 4
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16. y=6andx 3-1




What are we doing? Given a linear eguation and a certain point, you

WRITING can create ANOTHER equation that passes through this point and is
either parallel or perpendicular o the given line.

Parallel 4 Perpendicular
* FKeep in mind the following points:
EQUATIONS G AV
» Parallel ines have slopes.
» Perpendicular lines have m iEE:] l E

slopes.

1. Write the equation of the line that passes through the point (-2, 7)

pARALLEL and is PARALLEL to the iney = -4x + 1.
EXAMPLES | M=—4 %-* — (X‘l"@
-2,7)

5-3,:000(—)(.) = —4X-

2. Write the equation of the line that passes ’rhrOJQh the poirft (3. -1)
and is PARALLEL o fhe inex-3y=9. /5
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3. Write the equation of the line that passes through the point (4, 3)
and is PERPENDICULAR to the line y =2x - 4
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